
NCAA lecture 6 : quiz
1) Which of the following chains have a

seat
spectral gap ? why ?

( assuming unmarked arrows have balanced weights )
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2) For which of the previous chairs

having
a small

spectral gap
does the addition of self - loops

( all of the same weight) increase the spectral gap ( and

thereforethe
convergence

rate ) ?

3) Let (

Dj
, je

S ) be probabilities set
. Pj > o KES & Ffs pg.  =L

a) Show that if Ties with oegea . YES & If pjg .  = Ci

then g. = G . ties .

b) Show that if dj E { In } YES and c¥ pjdj  = di for some IES

then dj = di Y ' ES

c) Show
that
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